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UGC NET PAPER 3 NOVEMBER 05, 2017 SHIFT 1 SOCIOLOGY QUESTION PAPER

Note : This paper contains seventy five (75) objective type questions of two (2) marks cach. All
queslions are compulsory.

5 |9 Who among the following has given the structural view of society ?
(1)  Durkheim (2) Giddings (3} Mac lver (4) Cooley

2. Melancholia is popularly known as :

(1) Dementia (2)  Mental retardation
(3)  Depression (4) Anxiety
3. Who among the following has developed the concepl of “inferiority complex” ?
(1)  Mashalow (2)  Adler (3) Cattel (4)  Cyril Butt
4.  According to I.B. Trecker which one of the following is wanted by each individual and

social group worker should be aware of it ?

(1) Help (2)  Support (3)  Assistance (4) Recognition
5.  Non-conlirmity to a set of norms is known as :

(1) Crime (2)  Habil

(3)  Deviance (4)  Juvenile Delinquency
6.  Allocation of roles and status to members in a group is known as :

(1)  Cohesion (2) Conlrol (3)  Confrontation (4) Structuring

7.  Social change as a socio-cultural concept implies :
(1)  Little structural continuity
(2)  Absoluteness rather than relativity
+)

)

(3)  Abrupt change

(4)  Sufficient continuity in the structure of a society
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is the marriage of a man with the childless widow of his deceased brother.
(1)  Levirate (2)  Sororate

(3)  Sororal Polygyny (4) Polygvny

Human Resources are the most important only, if they have :

(1)  Large population (2)  Primary educaltion

(3)  Skill and training (4)  Inter-group relationships

The Indecent Representation of Woman (Prohibition) Act was passed in

(1) 1983 (2) 1984 (3) 1985 (4) 1986

Who was the Chairperson of the “All India Committee on Prison Reforms, 1980-83" ?
(1} Justice A.N. Mulla (2)  Justice M.N. Venkatachalaiah
(3)  Justice A5, Anandh (4)  Justice V.R. Krishna Iyver

What does the term "Electra Complex” denote ?
(1)  Ower attachment with father (2} Ower attachment with mother

(3)  Over altachment with brother (4)  Over altachment with sisler

Consider the following slalements.

(a)  Promote measures for securing and proserving good relations between the employers
and workmen

(b}  Duty to comment upon matters of common interest or concern of emplovers and
workmen

(¢}  Compose any material difference of opinion or concern between employers and
workmen

The above are the duties of which Commitlee :
(1)  Complaint Commiltee (2)  Works Commiltee

(3) Court of Enquiry (4)  Welfare Committee

Under Juvenile Justice Act, the observation home is mainly meant for :

(a)  Thrown away children (b)  Children in conflict with law

(¢)  Run away children (d)  Children whose cases are pending
Code :

(1) (a), (b) and (c) only (2)  (b) and (d) only

(3) () and (d) only (4)  (a) and (¢) only
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In whose opinion mental illness is a myth and infact problems of living :
(1)  George Stmmel (2) C.E. Murray

(3} Thomas Szasz (4}  L.L. Brown

Which one of the following programmes was nol part of social securily svstem based on
Beveridge report 7

(1)  Social Insurance (2)  Public Assistance

(3)  Family Allowance (4)  Allowance to handicapped

Malimath Committee is related to .

(1) Reforms ol criminal justice system
) Cenlre-stale relations

(3} Electoral reforms
)

Recognition of stales

When the dependent variable 1s not free from the influence of extrancous variable(s), the
relationship between dependent and independent variables is known as :

(1)  Confounded relationship

) Cause and effect relationship

(3)  Product and producer relationship
)

Contrelled relationship
Which one of the following is a method of laboratory rescarch ?
(1)  Play and role analysis (2)  Parlicipant observation

(3)  Amnalysis of documents (4)  Focussed mterview

Which of the following is a machinery for settlement of industrial disputes in India ?

(1)  Indian Labour Conference (2} Joint Management Council
(3)  Industrial Tribunal (4) Standing Labour Committee

What does the lerm “dipsomania’ mean ?
(1)  Compulsive physical abuse (2)  Compulsive alcohol consumption

(3) Compulsive speed driving (4)  Compulsive pool diving from heights
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Which among the following School of thought used the concept of social disorganisation in
explaining juvenile delinquency ?

(1)  Classical School (2)  Positive School
(3)  Chicago School (4) London School

Who is the author of the book "Pallern of culture™ 7

(1) Ruth Benedict  (2)  G.W. Allport  (3)  Kimball Young (4) M.N. Srinivas

Which among the following authority is empowered to grant probation to an offenders ?

(1)  Police officer (2)  Prosecution (3)  Prison authority (4)  Court of law

Which among the following Indian States has the largest number of ‘open prisons’ ?

(1)  Maharashtra (2)  Punjab (3) Rajasthan (4)  Tamil Nadu

Fundamental Interpersonal Relations Ormentation (FIRO) was developed by .

(1) Cooley (2) Bales (3)  William Schutz (4) Helariko
Shaping relalions between individuals to facilitate action creales :
(1)  Social capital (2)  Rconomic capital

(3)  Human capital (4) Individual capital

Device of assessing interpersonal atlraction, rejection and power is known as :

(1)  Counselling (2) Casc work (3)  Consciousness (4] Soctomeoetry
The term “Factory”™ is defined in Section of the Factories Act 1948,
1) 2) 2) 2 (p) () 2(v) (4) 2 (m)

What shall be the proportion of women amongsl the members appointed in the Advisory
Committee formed under the Equal Remunation Act 1976 7

(1)  One-Fourth (2)  Ome-Half (3)  Ome-Third (4)  Full-100%

Statutory right of re-employment remains in case of :
(1)  Dismissed worker (2)  Relired worker

(3)  Suspended worker (4)  Retrenched worker
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The concept of “Job enrichment” was given by :

(1}  John Bratton 2y LW, Taylor (3)  Herzberg (4)  Jeffrey Gold

Which one of the following countries is not a part of the “Golden Crescent”, Known for
narcotic production and supply ?

(1)  Afghanistan (2)  Pakistan (3)  Kazakhstan (4)  Tran

Regression analysis is done to measure :
(1) difference between variables (2)  correlation between variables

= association belwoeen variables 4 corresponding chanee 1 variables
(EJ [

The first study of ‘family tree” examining hereditory aspects of criminal tendency was
conducted 1n

(1)  England (2)  France (3)  Germany (4)  USA

Graphical representation of manpower in an organisation is called as :
1

(1)  Replacement chart (2)  Placement chart
(3)

Manpower inventory (4)  Organisational structure

In which pictorial technigue a set of pictures 1s shown to respondents for enquiring their
description about their thinking for representalion of pictures ?

(1)  Rosenzwety Test (2)  Thematic Apperception Test

(3)  Rorschach Test (4)  Holtzman Inkblot Test

The present problem is mainly seen in terms ol past events and experiences in :
(1)  Clinical diagnosis (2)  Etiological diagnosis

(3)  Social diagnosis (4)  Dyvnamics diagnosis

Who among the [ollowing 1s cligible [or the appointment as the Chairman of the National
Human Rights Commission in India ?

(1)  TFormer Chiefl Justices of High Courts
(2)  Sitting Chief Justices of High Courts
(3)  Former Chief Justice of Supreme Court

(4)  TFormer Justices of Supreme Court
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The idea that humans have mental conflicts because of desires and energies that are repressed
into the unconscious is propounded by :

(1)  Skinner (2)  Michel Milken (3}  Sigmund Freud (4)  Fric Berne

Who has postulated the concept that delinquency and crime are learnt in companionship
group ?

(1)  Merton (2)  Sutherland (3] Lrickson (4)  Parsons

“Studving the influence of counselling services on the [unctioning of couples with marital
disharmony”- is an example of :

(1)  Retrospective-prospective study design
(2)  Relrospective study design
(3)  Correlational studies

(4) Prospective study design

Emplovees Provident Fund and Miscellaneous Provisions Act, 1952 does not cover :
(1) Injury compensation (2)  Pension

(3)  Deposit-linked-insurance (4)  Provident [und

According to Robins, major [unction(s) of communication i a group is/are
(a) Control

(b)y  Motivalion

(¢)  Emotional expression and information

Find the answer from code given below :

Code :

(1) (a) omly (2)  (a) and (¢) only

(3)  (a) and (b) only (4)  (a), (b) and (c)
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360 degree appraisal svstem is done by :

(a)  Supervisors and peers

(b}  Peers and subordinates

(c)  Supervisors, peers and subordinales

(d)  Supervisors, peers, subordinates and clients

Find the answer [rom the code given below :

Code :
(1) (a) only (2)  (a) and (b) only
(3)  (a), (b) and (c) only (4)  (a), (b), (c) and {d)

Bio-medical concept of health envisages health as :
(a)  Absence of malnutrition (b)  Absence of medicine intake
(c)  Absence of disease (d)  Absence of problems

Find the answer [rom the code given below :

Code :
(1) (a) only (2)  (c) only
(3)  (a), (b) and (d) only (4)  (d) only

Which of the following is/are objectives of Beti Bachao and Beti Padhao Programmae ?
(a) Prevent gender biased sex selective climination

(b)  Ensurc survival and protection of girl child

(c)  Ensurc education of the girl child

(d)  Ensure proper nutrition for girl child

Find answer from the code given below :

Code :
(1)  (a) and (d) only (2) (), (b) and {c) only
(3) (b} and {d) only (4)  (a), (b), (c) and {d)

Assertion (A) : Community engagement is not needed for higher educational institutions.

Reason (R) : There 1s no accountability of higher cducational institutions toward
communily.

In the context of two stalements, which one of the [ollowing is correct ?
Code :

(1)  Both (A) and (R) are correct.

(2)  Both {A) and (R} are not correct.

(3)  (A) 1s correct but (R) is not correct.

(

4)  (A) 1s not correct but (R) 1s correct.
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Assertion (A) 1 In India, a large percentage of women cannot take decision independently
not even related lo their own lile.

Reason (R) : In India, a large percentage of women do not have political powaor.
In the conlext of two stalements which one of the following is correct ?

Caode :

(1)  Both (A) and (R) are correct and (R) is not the correct explanation of (A).

(2)  Both (A) and (R) arc correct and (R} 1s the correct explanation of (A).

(3)  Both (A) and (R) are [alse.

(4) (A} 1s truc but (R) 1s falsc.

Assertion (A) : Workers' participation in management results in industrial democracy.

Reason (R) : Workers” education programme does nol encourage the participation of
workers'.

From the two statements, which one of the following is correct 7
Cade :

(1)  Both (A) and (R) are true.

(2)  Both {(A) and (R) are [alse.

(3)  (A) is true and (R) is false explanation of (A).

(4)  (A) 1s true and (R) is right explanation of (A).

Assertion (A) : Fast growing up migration and mobility are causing social disorganisation,
juvenile delinquency and crime,

Reason (R) : Migrants are all the time concerned with their survival and accept few social
responsibilities.

In the context of two statements, which one of the following is correct ?
Code :

(A) 1s correct and (R) is wrong.

2)  {A) and {R) are correct.

3

1
- (A) 1s wrong and (R) is correct.

(
(
(
(4

)
)
)
)

Both (A) and (R) are wrong,
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0 T T o7 Sfiee o 9 H ot |

T (R) g | ae gfavia o afeast = o UsHifasw w1 781

= 2 o "ey o, freafafaa o 9 -1 e e 7

ehe :

(1) (A) 3R (R) 1 ®El € 3} (R), (A) i Ul =ARAT &l 2 |
(2) (A)3 )ﬁﬂﬁ%mn@g, (A) = HEl =T |
(3) (A) R (R) T 7T €|

(4) (A) T2 T, 9 (R) TG B |

USRI (A) :  FSET H HIER T AT o UHONHEaEy ST eiehas i Lo gt ¢

e (R) : FHTT T8 R a FHM 1 YNGR R 9easd 781 il |
T A wuAl & el o, Fefafea § g sa-w T wE © 2

HE
(1) (A) 3 (R) SHI &I 2|

(2)  (A) 3R (R) T AT € |

(3)  (A) W& § 3N (R), (A) hi TeTd =T 2 |
(4)  (A) T T HR(R), (A) T T A=

AfUeRe (A) : o9l ¥ @J o O SR Ao o helawy gises [aEed, sel 90y SR
I 2] F’_ETI

deh (R) qATTAT 31 THYM STO=1 STLsiiiaar s T Tedl § 311 o 9gd ohH HHTisen (gt

T TR 3 © |

TR 21 e & Hed § Aoty § ¥ HH-a w8 3

(A) |ET & 317 (R) 7770 2 |
(A) 3T (R) SHI ®El 2 |
(A) ﬂ_i?l%r?ﬂT{(I{)Il’_Tpl
(

A) 3 (R) 1 e T
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Assertion (A) @ After the demise of feudalism, those in poverty were seen as a direct threat
lo the Social order, so the government formed the poor law and created an
organised system to provide care to them.

Reason (R) : Rescue societies were initiated to provide support to resolve the problems of
poverty, disease, prostitution, menlal illness and other afflictions during
19t century.

In the context of two statements, which one of the following is correct 7

Code :

(1) (A) and (R) are true and (R) is the correct explanation of (A).

(2)  (A) and (R) are true and (R) 1s not the correct explanation of (A).
(3} (A) 1s correct and (R) is not correct.

(4)  (A) is not correct and (R} is correct,

Assertion (A) : EFarly childhood emolions are intense with [requent emotional oul bursts.
Reason (R) : Emolions are associated with tempertantrums, intense fears or Jealousies.
In the context of the two statements, which one of the following is correct 7

(1

) Both (A) and (R) are not correct.

(2)  Both (A) and (R) are correct and (R) is the correct explanation of (A).

(3)  Both (A) and (R) are correct and (R) is not the correct explanation of (A).
)

(A) 1s correct, but (R) is not the correct explanation of (A).

Identify the correct order of actions in Disaster Management Strategy :
(1)  Alarming, Preparcdness, Rescue, Relief, Rehabilitation
(2)  DPreparedness, Alarming, Rescue, Relief, Rehabilitation
(3)  Preparedness, Rescue, Alarming, Relief, Rehabilitation

(4) Rescue, Preparedness, Alarming, Relief, Rehabilitation

Which ome of the ff)ﬂm-ving pairs is not correctly matched ?

(1)  Person-in-situation ~ Hollis

(2)  Problem Solving ~ Hamilton

(3)  In Sight Learning Theory - Kohler

(4) Trial and Error Learning Theory - Lrich Fromm

Identify the correct chronological order according to their dates of celebration in a year :

(1) World Cancer Day, World Environment Day, World Blood Donor Day, International
Day of Elders

(2)  World Environment Dav, World Cancer Day, World Blood Donor Day, International
Dayv of Elders

(3)  World Blood Donor Day, World Cancer Day, World Environment Day, International
Day of Elders

(4)  International Day of Elders, World Cancer Day, World Environment Day and Waorld
Blood Donor Day
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ATURRYT (A) - HHASE & GHIS B o J9=Td TR IF <h] SATSR sqa%eq & fou €8 Eal <k
A X 28T ST 9T, THET SRR F TIEl o felU T S S 3 SE YT 9

qeh (R) 19 = vrares] o SRE TE, U, avEEty, gEtaes I 97 S il | 0
ToetH & ToTu ==me ARzl YRy & 16 |

SUUE B Ry o wed o fefeted © 9 me-w wd § 2

(1) (A) 3T (R) |2l € T91 (R), (A) 1 |l =HEAT 2 |

( (A) SR (1 FIET g A1 (R), (A) 1 Tl RA 72 ¢ |
(3)  (A) FE® AY(R) T T |

( {A)W%W(R)Wm

AR (A) :  Jd SodmEee] H ol IR-9R 3 Aol HolTensh SAer |igd did 8 ¢ |
ek (R) HATT SR, STAfYH U A7 T | Hatad 81 |

SR Tl YAl & Hed H fafEd 5 | -9 Ja& ¢ 7

(1) (A) 3R (R) <HI 7o § |

(2)  (A) SR (R) ST TEl E 797 (R), (A) T T =& 2

(3)  (A) 3R (R) TFT ¥&1 %, T (R), (A) T 9 =@ 76

(A) W21 2, TG (R), (A) 1 |l SHRAT Tl T |

freafafea O o arver weiv WoEd o SHaE F39 F HEl 9 F Y7
(1) =arEst ST ], daRl 1, 9976, Ted, Iarem
(2) A AT, SR SR ], F=E, Ted, e
(3) AR AT, S, FdrEr S HAT, g, YA

(4)  F=EE, TAR L, FdEEr S T, g, YA

frefafea o § SFE-w1 77 gofed 78 § 2

(1) TEA-F-Tagw - e

(2) HHEA FHIHEM - zfhwed
(3)  H& 3N HEH # g - B

(4) vAEUd Il g HEd w1 fagid - Ui W

{4 { ]

Frefetad feadl o oy o 39 o970 59 o Wat 0 § evafid mife
)y Tave Ser feam, faga gafawy foay, fova e foow, st g faad
2y Tava warerm foam, fava oy feaw, fava wagmar faam, siads a9 foom
)y Tave e foaw, fava e foaw, ave qaieryy ooy, AarsE g ooy

4y s gept feam, fava S faw, fava e feag, fava wagar feam
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Chronologically arrange the vears of enactments of labour legislations given below :

(a)  The Minimum Wages Act (b)  The Payment of Wages Act
(c)  The Trade Unions Act (d)  The Payment of Bonus Act
Code :

(1) (b}, (¢}, (@), (d) (2) (¢}, (b), (), (d)

(3) (), (b), (¢), (d) (4) (o) (a), ( ) (b)

Choose the correct sequence of the following Central Government Programmes based on the
year of their launch in the chronological order :

(a)  Atal Pension Yojana

(b)  Pradhan Mantri Gramin Awass Yojana

(c) Integrated Child Development Services

(d)  Mahatma Gandhi National Rural Employment Guarantee Scheme

(e)  Integrated Rural Development Programme

Code :

D (@) © b @) @ @) (©. (), (b), () @
3) (), () (o), (d) (a) @) (®) @), ©) @) @
Which among the following pairs is correctly matched ?

(1) Bom criminal - Merton

(2)  Anomic - Sutherland

(3)  Sadomasochism - Sigmund reud

(4} Differential Association - Lombroso

Choose the correct sequence of the vear of enactment of the following Social Legislations m
the Chronological order : - -

(a)  Special Marriage Act

(b)  Female Infanticide Prevention Act

(c)  Widow Remarriage Act

(d) Caste Disabilities Removal Acl

() Indian Slavery Act

Code
(1) (e), (d), (o), (b), (a) (2)  (a), (b), (d), (), ()
(3) (<) (e), (d), (b). (@) (1) (b), (e). (d), (), ()

Choose the correct sequence of the Fundamental Rights as they appear in the Indian

Conslitution :

(1)  Rightto Conslitutional Remedies, Right to Freedom of Religion, Right to Freedom, Right
to Fquality

(2)  Right to Equality, Right to Freedom, Right to Freedom of Religion, Right to Constitutional

Remedies

Right to Freedom of Religion, Right to Freedom, Right to Equality, Right to Constitutional

Remedies

(4)  Right to Freedom, Right to Equality, Right to Constitutional Remedies, Right to freedom
of Religion

ey
rJ}
p S—

prepp

Your Personal Exams Guide



www.prepp.in

60.

61.

A2 fEU T 99 HAE] 1 SR SATEET & el o STHR Wy hH T sHared i

(a) =TaH wsigll sty (by STl g stfuferm
(¢) HSIGL T SATuiTa (d) FFE gTaE st
ehe :

(1) (b), (). (a), {d) (2) (¢ (b). (a), (d)

(3)  (a), (b), (), (d) (4) (o). (a), (d), (b)

Feafeflad shesi TR o TRl oh] 3Tk 3TRY B4 o a9 o 274 9 Hel svH H 1T ¢

(a)  37Zel YA Grei

(b)  WHTTHE UTHT AT AL

(c) HHfwT a1 faw™ Han

(d)  HETHT T IS TTHTOT ISR T2 dls)

(c) wHfRd UTHUT ek hTeishH

ehd ;

(1) (&) () (b), (a). (d) (2) () (e), (B), (d), (&)
(3)  (B) (c), (o), (d), (a) (4 (b), (@), (c), (2), (d)
frfafea § 9 +9-91 770 gufed © 2

(1) @ frftaa - HEA

(2) WA - HEwE

(3) HeSHHfa - famde wes

(4) Tewwfema waiauyA S IR

4 B [ T o DR T
R o SR " E e
L

Fefafaa amfse il =1 3% Atafrafaa fee s & 9y & A79R 98 %09 § @ .

fav faam wfufrag

T YOT Ze1 T ST aH
favan qHfdars wfufmm

STt . 3mEaa TR stafaamg
O grEdr ATy

(@), (d), (), (b, @) 2 (a), (), (d), (o), ()
(©), (&), (&), (b), @) (), () () ©), @

a

FefarfEd o1 SfaeRrl =l qRdrd |igaM H 3k Jooia <h Tl oA H Sgelieerd shifey

(1)
(2)
(3)
()

gaefaer sy 1 sifuser, e sadsan =1 stfasn, sadsmar =1 i, wamar 7 sifyer
U1 BT STTEET, Tl 1 ST, 9iftier Tadsiar =1 STHHR, Fa9ries IT=r #1 s1HER
AT TG 1 SRR, Tad=a] o1 AR, AT & AR, a1 STEr] 6 AR
TG T AR, Tl 1 STT9eRR, a9 U= =61 31faerr, sifdes Taaar =1 1T
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Match List - I and List - IT and choose the correct answer from the code given below :

List - I
(a)  The Minimum Wages Act
(b)  The Maternity Benefil Act
(¢} The Plantation Labour Act
(d)  The Trade Union Act
Code:.;

(@ (o) (o (d)
() @) Gv) @ (i)
(2) (i) @v) @) ()
() @ @ ) ()
@) () (@H @) @

List - II
@) 1926
(i) 1951
(i) 1948
(iv) 1961

Malch List - I and List - IT and choose the correct answer from the code given :

list -1
(Concepls)
(a)  Descriptive Statistics (i)

(b)  Inferential Statistics  (ii)

(¢} Skewness (111)
(d)  Kurtosis (iv)
Caode
@ (b)) () (d)
() © W () 1)
(2)  (m)  (v) (D) ()
() (Ov) () (1) ()
@ @ M @) G

list - 11
(Characteristic)
Process of generalizations
Development of certain indices from the raw dala

Pointing to the nature of distribution of items in middle of
series

Showing the manner in which items are clustered around
the average

Which of the following pairs is wrongly matched ?

Communist Party of India-Marxist
Bharathiva Janata Party

Indian National Congress

(1) AITUC -
(2) BMS -
(3) INTUC -
(4) UTUC - Revolutionary Socialist Party
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T - | 3] T - 11 <h |19 gaferd iy R 44 S0 T8 e § Wal 3t &1 =897 iy

(3)

(4)

i

=IATH gl SAHEH

orgea oy s1fafaayg

ST 99 AfafTaa
22 gfaq arfuf1an

(a) (b} (c)
() @v) )
(iii) (iv) (i)
i o
(iv)

i) ()

i) (i)

(d)
(i)
(1)
(ii)
(1)

gt - 11
(i) 1926
(i) 1951
(i) 1948
(iv) 1961

T - 1 3] = - 11 o &7e AT =hifeie #i7 A= 76U 70 2 sl 9=2hd § Wel 39 Sy, ;

(1)
(2)
(3)
(4)

I - 1
( ST )

IR AR IEE2ER

STTHA HIH]

(@) (b)) (o)
EVR ¢ VY
(i) (iv) (i)
(v) (@) (i)
(i @ )

et - 11
( fergtorard )
(i)  WHFEET i AiHA
(i) URHe TRl shi HEMAl H hiqqd Ykl skl Ty

[

(i) Henl o Heg Hel ok TadCul =l ehfd §HTd Rl

(iv) @ ale <91 fay e, Sid o #1999 =24 €

FrefaiEd § ¥ sE- g8 gHfed T8 § 7

(1)
(2)
(3)
(4)

T2 21,9, 4.
1. 00,04,

F[TEE Ul AT gieH-HeEe]

YRETE STdT 92

e -,

g7 SyHd

RaTeer grrferse arel
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Which one of the following pairs is not correctly matched in group formation in

community ?

(1) Before group formation - Planner
(2) At the time of group formation - Motivator
(3)  Beginning stage of group - Observer
(4)  Development stage of group - Facilitator

Match List - T and List - IT and choose the correct answer from the code given :

List - I

(Committees/Commissions)
(a)  Roval Commission on Labour
(b)  Labour Investigation Committee
(c)  First National Commission on Labour
(d)  Second National Commission on Labour
L odes
(a) (b)
() (iv)

(c)

1 @M |
(v) () @) @)

O

(v)

2
5

3) (i) (i)
4_

(
(
(
(4) () (1)

)
)
)
)

Maltch List - I and List - IT and choose the correct answer [rom the code given :

List - I List - II
(a) TPower
(by  Authority
() Influence

(d)  Coerse

(i) (1) tiii)

i) Ability to force others

1)  Ability to do something

List - IT
(Chairpersons)
I>.B. Gajendra Gadkar
J.H. Whiltley
Ravindra Verma

DV, Rage

1) Ability to alter others in general ways

1v)  Right to manipulate or change others

prepp

Your Personal Exams Guide



www.prepp.in

65,

66.

67.

-

L) [l ™y

(1)
el
o)
e

g e 9 I8

g0 89 & 999

L=

TUT F WRITs =1

L=

HYE 1 TR =10

MRS gl H | H[-91 g7 FHEE Y HHE TS i g Y YHAd 76 ¢ 2

- U
- UHE

i )

- YRl (RiElerZa)

it - 131 G=it - 11 % |19 goferd sifey #7949 50 70 %2 § el IW H =91 Fife

=il - 1

( witrer/ e )
(a) Ut FHHIA 3 o=l
(by o <= wifa
(c) TUH AL 97 A
(d) fedta i g s
ehe :

(@) (b) (c) (d)
(1) ) (v) () (i)
(2)  v) @) () (1)
(3) () (u) (1) (1v)
(4) (i) (@) (v) (i)

T - 131 =0 - 11 % Fre gofaa Ffa o F fag 7 g2 #1 wemm 3 wd s dfa

= - 10
( TemaT )

i) dLEL e TS

ii) .U, ®IEe
iify  ferg =i
iv) ELdEL I

=l -1
(a) @I (1)
(b)  TNHERR (ii)
(c) U9 (iii)
(d) v (iv)
ehe ;

(a) (b)) (c) (d)
(1) () () (1) (iv)
(2) (i) (1) (i) (iv)
(3) ) (v) (1) (i)
(4) (i) () (1) (iv)

e - 11

MM AR ] 9 1= () ] 98 i &9l

U w1 Telagr shid ki &1Hd]

TT-TRT T 14T GEY I FEel T SAHFER
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Match the following :
List - I
(a)  The Children (pledging of labour) Act
(b)  International Covenant on Economuc,
Social and Cultural Rights
(¢)  The Displaced Persons
(Compensation and Rehabilitation) Act
(d)  National Charter [or Children
Code :
(@) (b) (e}
)o@ ) ()
2) (i) () (1) (v)
) (v) (D) (W)
)o(ii) (i) (iv)  (

Match List - T and List - IT and choose the correct answer from the code given :

List - I List - II
(Concepls) (Meaning)
(a)  Self-awarceness (1)  Ewaluation of sclf-based on reflection or social comparison
(b)  Scll-esteem (i) A sclf-belief to evaluate behaviours and actions categorised
out of bond
(c) Self-respect (i) Internally consistent feelings about sell-beliefs
(d)  Self-confidence (tv)  Degree of consciousness about thinking, feclings and
actions
Code :
@ () (g (d)
(@ G m o (iv)
(2) (v) () @) (i)
(3)  (iv) (n) () (1)
(4) () (v) @ (i)

List - II
Q) 1933

(i) 1966

(i) 1954
(iv) 2003

Which among the following pairs 1s wrongly matched ?

(1)  Pulse Polio Immunization PI‘(_}gramrTm
(2 National Rural Health Mission

)
(3)  National AIDS Control Programme
(4)

Expanded Programme of Immunization

- 1995
- 2005
2 1987

1985
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= - 1 = - 11

(a) SR (9 FrREERT) sttt (i) 1933
(b)  eAIfee, WMITSTeR 9207 Hikhider AN (ii) 1966

] HAqUerg HifaHe
(¢) Taxafug =afea (gerest wd qaareq) sfafaam () 1954
(d)  F=I HaH TR AR (iv) 2003
he

(@) (b) () (d)
(L @ (W) @ (iv)
(2) () (m) (1) (1)
(3) (v) (m) (@) (1)
(4) () () Gv) )
Tl - 131 T - 11 <F |19 gaferd shifg 3R e QU T8 2 9 Wal 3t &1 =897 iy

el - 1 it - 11

( ST ) ( 3ref )
(a) HATH-HY ()  TEa SR ISR Qe ok STHR W 39 1 goaia
(b)  EETTAT (i) =19 HHE 4§ T4 seRi SR Tharstl s gedisd i &g @

&1 favam

(c)  ITcH |¥H (i) ¥ Rl HIFAS K SN H AR B W GHTA 9EE
(d) ren favam (iv) To=m, qearsr siK fwamet & 9 o =6 1 T
ehe ;

(a) (b} (c) (d)
(L ) @ () (iv)
(2) (v} (1) () (i)
(3)  Gv) @) @) (1)
&) () (v) (@) (i)

frfafaa 5 ¥ sH-w1 v gHfad 98 § 2

(1) ¥o" Ufeal i wRiEN < 1995
(2) TS UTHI ErEed Ty = 2005
(3) UL ug" A SR - 1987
(4)  ZTRTERTIT =hT Teredliid shEishH . 1985
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Instructions :  Read the passage below and answer the questions that follow based on vour
understanding of the passage (71 - 75).

The quest for distinct higher living stvles has led to blind competition which 1s fuelled by
rising consumerism and aspirations. /A good number of families are becoming prey to market forces
resulting in over spending and indebtedness leading o an excess of family expenditure over income.
Consequently, two options arc left-cither put in extra hours to cover-up the deticit or to learn and
apply shortcuts to be in competition. The price rise, allurement for new products, inflation in the
market pushes people into vicious circle of [tnancial crisis and [amily relations becomes the first
casualty. Further, peoples” aspirations for higher standard of life are also affecting relations within
family. The media has become a tool [or changing opinions and advancing market agenda up to
an oxtent that it peeps into the personal space of the family, affecting even sexual relationships
between couples. Qur society is facing the bigger gquestion of how to save our families from
degradation, disintegration and subsequent demise. Recognizing the [act that the change has its
own speed, pace and direction, there is an urgent need to explore ways and means to protect
families. Since there are multiple, complex and integrated factors responsible for the present situation,
the answoers should also be ditferent at different levels. At the government level, it should be kept
in mind that all policies ultimately affect families. Therefore, all policies should be examined with
this perspective also. Since there is no single easy definition of family, policies must accommaodate
all possible types. Secondly, there is need to initiate and strengthen institutional capabilities where
all kinds of agencies including schools, religious organizations and entire civil society sector be
mvolved. In nut shell, we should have family sensitive policies. Law has emerged as a more viable
imstrument to prevent marital conflict and families have been quite successful so far. Both marriage
laws and family laws are performing well but therr implementation still has scope for improvement.

71.  The new ways and means to protect families should be in consonance with :
(1) The changes in the society
(2)  The capacilies of the people
(3)  The power of government

(4)  The services delivered by civil socicty groups

72.  The relations within a family are largely affected by :
(1)  Smaller size of the family
(2)  Sexual relationship belween couples
(3)  Rising individualism among family moembers

(4)  Weaker implementation of government policies

prepp
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eyl :  TAfafEa 90 &1 SAemaq sife ao 90 & o1 § 9&qd U94] ol 37941 998 o 3TTHN 9T I
SIS (71 - 75) |

aftree =1 Sitaq et i enerar | st giaeadl = s far § 99 9ed IudEaEg siR steRies
r=llcE | B4 dﬁﬁﬁ gl el @1 €1 3Teh JaR 9l &) I o PR 94 @ 8 [0 hoasy 9 s1fyeh
T FLIR T -*:T“r{wma 21 18 © Toras 39 ufar =1 =931 I9eh1 31 o 31fyen 21 T T | SO Yo aLeEy
el &l fashed @< § - A1 d TS ] Y L o fay Afaiea = & fxan s gfawayt § a9 B & fau
gIiZend HE SU 3R 3% A= S0 | SR | Jed Jig, 74 3E] & (AU Jeliyq 3R HErhia § e
fo<il1 Hehe o 59 O %9 90 © S THHT "o Ygell g wifianfisn d@aei 9T gsar g1 g6 sifafiaa,
S &1 3= SHed WX 1 3Tehiemd off 9fER & e &) garfoq &2 @ 81 Jifgd < & 19 sgaq 3T

ST o Uxﬂ\%l I AT S 1 3T " W1eE 749 71 § TR 39 9f@R o et stae o off g iy
< fean & fom@ =vreti & A gay ot warfad 81 1§ 1 g9 99T o " 981 W99 9% § T st uferd &
YY), 224 3R IHek F18 HATA B | kel =911 <19 | 9 424 o =41 H Wd g Toh qRadA sl 391
Tifd, =T SR fEen Bl ¥, 9ERT 1 99T o dR-aLeh] Wl Tare i A STEvaEal § | H ik aadr ferfa
= foTu a1ah, SIf2et 3R THfha e ST 2, 39 fafys T ™ 3ug ff fa-faer 20 =nfen | T
& T W A% ©H TET S =ifeu o wdt Tifae afaa: 9ftan o woifad s €1 gg9fore, |t Jifaal &1 39
afeyet | o Sita =1 ST =nfen | =i uia w5 i u s ufamn T8 8, sufe Sfaa § ufar F g
H9d YNl o INHE TohaT STHT =1feu | gER, HEIRTA o Haistl o1 101 i 3R ggE i i AETTehdl €
forerd forrmera, enftier wmedi wfed @Yl werr = sy #iR wrgl fafaa gmeEl (7R 90e) &5 =
ynTHer ferarn ST =nfen | & |, AN 9 9RER < Ufd eeagiiel Aifaar 21 =fet | s é‘tﬂl[%% S =
ZERIE T U = T &ﬁﬁmmwwawﬂzw ¢ 2 TOY UEar 319 9% &% 9%d T § | (99w
ol H SR URaR "aHdl FT 7581 HH I 17 8 g 316 w5 $1497 Of YR 1 96 3 |

— B 0

71. ARERI = F4M < 74 GR-ales HfeEd § 9 foeeh & g ey ?

(1) HAS H qiered |
(2) I I AT 5 |
(3) HLHR HI A F |

it

(4) Tafae g (7R 99S) WHE1 g S S &l HETE o |

e

72. YRER & I d@eig Fefafgd 5 § ged: Tdeh g g4ited 24 ¢ ?
gfE ] 3127 3N |

(1)
(2) gl ok S A WA |
(3)
()

3) URER & 9ol & & g6 dh e |

4y HIHA Afaa w1 Eud mEaed |
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74.

i

Which institution is affecting the families most in the present time ?
(1) School and Government (2)  Religious Orpanisations

(3)  Media (4)  Civil society groups

The families can be saved from disintegration through :

(1)  Reducing speed of change (2)  Moulding direction of change
(3)  Prevenling institutional crisis (4)  Building family sensitive policies

The familics arc trapped in the vicious circle of financial crisis due to

(1)  Rising consumerism

2)  Rising aspirations
)

3} Rising consumerism and aspirations

(4)  Quesl for higher life stvles
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